10H 43 AfLFERE

BAAL B : R5.10.22
(AFLEARI :R5.9.30 ~ R5.10.21)

7 o AR AL

1 Y77 (8)
2 |77V (8) 3 300
3 | REAT-7NV (FK)
4 |TLVEE (B 1 510
5 | (28 7 3,100
6 [Zuffe—AR—FK (R) 1 1,000
T |7 TF=T 16 9,010
8§ |[muftTLER () 2 1,200
9 |[HF—ARyIA(H) 3 500
10 [RIDTAN T — 3 1,100
11 |BFET (LAf) 8 15,010
12 |y 72 (248) 4 400
13 |HEAR 13 1,050
14 |07 leHFHET—T7 0 10 1,110
15 [3BITIr—2 (218) 10 2,100
16 (O HE—F =T
17 [P ARDUI 1 220
18 |RE—F =7
19 [BBRAZNT Y7 6 1,600
20 |PEEL 110

— el e O PR HH R LRV ELTE)
22 LTIy 4 1,200
23 |6BxBEHL 1 1,800
24 |7 AP 2 3,900
25 |NH=T97 3 1,010
26 |ZEXIRTEHE 2 1,200
27 (13230 8 2,500
28 | A7 DEY 14 1,500
29 (Mg 3 1,000
30 | STl 2 550




IR

S 4 NGRLE ' W ALATIHE
31 |FREIH 7 3,500
32 |NIRvREyh 3 350
33 |FERAN 4 500
34 &R 6 1,000
35 [DWALT 2 1,110
36 |HHL X 2 2,100
37 |BEftT =T 3 1,910
38 |[a—F—TFv7 2 1,200
39 |AF—NTFv7 (H) 9 600
40 |BAISZ 13 3,000
41 (#0772 B_oR 6 2,500
42 |FLREEL 5 3,000
43 |(vayt T h—h 6 3,000
44 | RNE—H— 1 1,000
45 |HAX 1 1,500
46 |[F¥V— 3 1,050
47 | 7aRNAT 2T40F FL oy 6 11,000
48 |BHERHEL 264V F T LN— 20 14,000
49 |HERHE 27T/ & 14 16,100
50 |[RAUTNTHERE 2640F LN — 12 10,000
51 |HERHEL 22/vF H 4 8,100
B Bt e i R Rt/ FRSC FETR (R LRV E LT

53 |BEREHL 244VF KE 2 5,500
54 |0zl A BERE 1640F 1L — 4 4,210
55 |~ T BERE 184vF B 3 5,100
56 |fHENfT BESHL 1240F & 9 3,000
57 |fHBhimft BEsE 1840F B 3 5,600
58 |FvIHR—K (1—X) 2 900
59 |4fmE

60 |[ZVATAHR—R 2 3820




